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September 27, 2023

Use the trigonometric substitution to write the algebraic equation as a trigonometric equation of &, wheré —-=/2 < 6 < =/2.
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2.1 Part 11

Rewrite the expression so that it is not in fractional form. There is more than ocne correct form of the answer.

sin? |
10 1-—cosy

Rewrite the expression so that it is not in fractional form. There is more than one correct form of the answer.
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Section 2.3
Fill in the blank.
The equation 2 tan?(x) — 3 tan(x) + 1 = 0 is a trigonometric equation of[ o ]type.
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